V00E~VOSEMMIFES 10

Nid LHOIVYLS LIMSVDO A313IAIY LD

PR5-100A-029

410——]

—11.70—
| &)
0.50
E
FroNan

= —

19.50———
R

}-1.50

2
L T

# RS % (Technical Data)

—

PR5-100A-030

D

I—mso—l

—11.70——

150

[

4-300-4
105

HARS¥(Technical Data)

PR5-100A-031

—12.00—

D

f—11.70——

F

1.50

I——l3.85—ﬁ

I——m.so—-l 4-1.70

$ RS H(Technical Data)

i8]  §5(Center Space) 8.7x10.5mm
#M2 iRk (Rated Current) 100A
EL:I25T(Screw) M5
F24EHF(Terminal Body) Brass,Tin Plated
#24TH14E (Screw Torque) 24 1bf - in

PR5-100A-032

—11.70—=

=
2104 L

ool L 8
i

-22.40—————

[— +-1.50 e
Lx D, sn—J_ #=350~3 igﬁo—]

@  B&(Center Space)
#hiE raift(Rated Current)
E£&424T(Screw)
124ZRF (Terminal Body)
42474145 (Screw Torque)

8.7x10.5mm
100A

M5

Brass,Tin Plated
24 Ibf - in

PR5-100A-033

p—i1.70—

Lmso—] A

i@ BE(Center Space)
i raift(Rated Current)
[EZ:H84T(Screw)
124£45F (Terminal Body)
2474145 (Screw Torque)

10.0x10.5mm
100A

M5

Brass, Tin Plated
24 Ibf - in

PR5-100A-034

[—12.00—

fe——11.70—

mS-6m

-10.50

O

BCR LAOUT

9300,

f—llJD—l

13.00——

I—— .

[ ]
]
&

.‘L‘—w.su—j .70 gw,o—-!

PCBiR/IRZFin Tk, BSHKHE, HERERS, ™~

PR5-100A-047

[~12. 000. 20 |:| ‘:'
g BCB LAYOUT
D 1aem
=

ts00- 2

o
I M6-6H r—l 1.I 70—°|

I——lzo.oo—- [y
3. 50—
5 l—16.00—

PR5-100A-035

R ITHEREE R IA+ZPCS 1

PR5-100A-037

14,00——

——12.00——

mS-6H

10

~-1.50

I—l 3.00—

FARSH(Technical Data)

1l

5.50J
AR SH(Technical Data) AR SH(Technical Data) H RS ¥ (Technical Data)
{8 BE(Center Space) 8.2x10.5mm il §5(Center Space) 6.5x10.5mm i8]  B5(Center Space) 10.0x10.5mm
#FEHif(Rated Current) 100A M2 Hifi(Rated Current) 100A #E2Hif(Rated Current) 100A
[EZ385T(Screw) M5 R4 (Screw) M5 TE£384T(Screw) M5
Y2 F(Terminal Body) Brass,Tin Plated {2 4% F(Terminal Body) Brass,Tin Plated 124U T (Terminal Body) Brass,Tin Plated
424TH45(Screw Torque) 24 1bf - in #R4THI4E(Screw Torque) 241bf - in 484T41%5(Screw Torque) 24 Ibf - in

1.50
4-3. 000.15

«]—10. 5010.»1-» . 90£0.15
BAR&¥(Technical Data)
8  §B(Center Space) 5.9%10.5mm
#hErEfi(Rated Current) 100A
JELARET (Screw) M6
12123 F(Terminal Body) Brass, Tin Plated
$RFFHAKE(Screw Torque) 301df- in

PR5-100A-038

R
i_ | 410——t

-0

[

I-——lSJD—ﬁ

s _j§
A g N

# RS ¥ (Technical Data)

&
®—1200—
R
Ly
-6.00-
#5.50 3
M5=6H o
l e
g [T T
Q4150 8
M ~
l——10.50—-| 4_1'704t10.00—-f i
H RS ¥ (Technical Data)
i8] ¥5(Center Space) 10x10.50mm
2 Hifi(Rated Current) 100A
JEL45T(Screw) M5
124£4%F (Terminal Body) Brass, Tin Plated
#B4THI%E(Screw Torque) 241bf - in

PR5-100A-039

&

E BCB LAYOUT.
T 410~+——
LL:I :q

Ert
] ——12.00——
' T T
| AT
8 <
Tj—}—x.sa 8
L—JE.SOJ 47350 E[s,so—J :1

HARS#(Technical Data)

B BE(Center Space)

#hizeraifi(Rated Current)
[E£:48%7(Screw)

123£ 4% F(Terminal Body)
484TH4E(Screw Torque)

8.5x12.5mm
100A

M5

Brass, Tin Plated
24 |bf + in

PR5-100A-040

S =
B8
N BCB LAYQUT
Y @ 4.10~—
I R |
) -8.50-
g
(T |I| l H
§i
{150
§
L N

RS ¥(Technical Data)

065/

8 ¥E(Center Space) 8.5x12.5mm
#fErift(Rated Current) 100A
TEZ425](Screw) M5

123U F(Terminal Body) Brass,Tin Plated
#24TH14E (Screw Torque) 24 Ibf + in

8] $5(Center Space) 8.5x12.5mm
#hEraifE(Rated Current) 100A
JESRURET(Screw) M5

12354 F(Terminal Body) Brass,Tin Plated
#24THI%E(Screw Torque) 24 1bf + in

{8 BE(Center Space)

#iE B i (Rated Current)
[E£48€T(Screw)

12E T (Terminal Body)
#24THI%E(Screw Torque)

8.5x12.5mm
100A

M5

Brass;Tin Plated
24 1bf - fin

/066

YO0E~VOSEHMIFHES 1 o

Nid LHOIVYLS 13XSVYO d313AIY 1D



